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g§H${bV narjm – II 

SUMMATIVE ASSESSMENT – II  

gm_m{OH$ {dkmZ 
SOCIAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 8 + 2 _mZ{MÌ h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 

{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 30 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 8 printed pages + 2 Maps. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 30 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 

SET-1 
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gm_mÝ` {ZX}e : 

(i) Bg àíZ-nÌ _| Hw$b 30 àíZ h¢ & g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 go 8 VH$ A{V bKw-CÎmar` àíZ h¢ & àË`oH$ àíZ 1 A§H$ H$m h¡ & BZ_| go 
àË`oH$ àíZ H$m CÎma 30 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE &  

(iv) àíZ g§»`m 9 go 20 VH$ àË`oH$ àíZ 3 A§H$ H$m h¡ & BZ_| go àË`oH$ àíZ H$m CÎma  

80 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE &                                                                                            

(v) àíZ g§»`m 21 go 28 VH$ àË`oH$ àíZ 5 A§H$ H$m h¡ & BZ_| go àË`oH$ àíZ H$m CÎma  
120 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m 29 Am¡a 30 B{Vhmg Am¡a ^yJmob Ho$ _mZ{MÌ dmbo àíZ 3 – 3 A§H$ Ho$ h¢ & 
BÝh| nyam H$aZo Ho$ ~mX, _mZ{MÌm| H$mo CÎma-nwpñVH$m Ho$ A§Xa ZËWr H$a Xr{OE & 

 

General Instructions :  

(i) This question paper has 30 questions in all. All questions are 

compulsory. 

(ii) Marks are indicated against each question. 

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. 

Each question carries 1 mark. Answers of these questions should not 

exceed 30 words each.  

(iv)  Questions from serial number 9 to 20 are 3 marks questions.  

Answers of these questions should not exceed 80 words each. 

(v) Questions from serial number 21 to 28 are 5 marks questions.  

Answers of these questions should not exceed 120 words each. 

(vi) Questions number 29 and 30 are map questions of 3 marks each from 

History and Geography. After completion, attach the maps inside your 

answer-book. 
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1. ‘dÝXo _mVa_²’ JrV {H$gZo {bIm Wm ?  1 
Who wrote the song ‘Vande Mataram’ ? 

2. ‘amîQ´>r` Zm¡Jå` Ob_mJ© g§. 3’ H$m g§~§Y {H$g amÁ` go h¡ ?  1 
Name the State related to National Waterways No. 3. 

3. ‘dJ©-{deof Ho$ {hV-g_yh’ H$m AW© ñnîQ> H$s{OE &  1 
Explain the meaning of ‘sectional interest group’. 

4. amOZr{VH$ gwYmam| H$m AW© ñnîQ> H$s{OE &  1 
Explain the meaning of political reforms. 

5. ^maV _| ~hþXbr` ì`dñWm AnZmZo Ho$ EH$ H$maU H$s naI H$s{OE &  1 
Examine the reason to accept multi-party system in India. 

6. boZXoZ _| _wÐm {H$g àH$ma bm^H$mar h¡ ?  1 
How is money beneficial in transactions ? 

7. Cn^moº$mAm| H$mo bw^mZo Ho$ {bE EH$ ^«m_H$ {dkmnZ H$m CXmhaU Xr{OE &  1 
Give an example of a catchy advertisement to attract consumers. 

8. ‘j{Vny{V© {ZdmaU Ho$ A{YH$ma’ H$m à`moJ {H$g n[apñW{V _| {H$`m OmVm h¡ ? EH$ CXmhaU 
Xr{OE &  1 
In what condition is the ‘Right to Seek Redressal’ exercised ? Give an 

example. 

9. {~«VmZr amîQ´> amÁ` Ho$ {Z_m©U H$s Amoa bo OmZo dmbr {H$Ýht VrZ n[apñW{V`m| H$m dU©Z 
H$s{OE &  31=3  

AWdm 

 \«$m§gr{g`m| Ûmam hþBÝh \y$ gmo Ho$ {dMmam| na AmYm[aV Am§XmobZ H$mo Hw$MbZo Ho$ {bE {H$E JE 
{H$Ýht VrZ à`mgm| H$m dU©Z H$s{OE &  31=3 

Describe any three conditions that led to the formation of the British 

Nation State. 

OR 

Describe any three efforts made by the French to suppress the movement 

inspired by Huynh Phu So. 
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10. ‘{ÛVr` Jmob_oµO gå_obZ’ Ho$ ~mX Jm±YrOr Zo ‘g{dZ` Adkm Am§XmobZ’ Xmo~mam ewê$ Š`m|   

{H$`m ? H$moB© VrZ H$maU ñnîQ> H$s{OE &  31=3 

Why did Gandhiji relaunch the Civil Disobedience Movement after the 

Second Round Table Conference ? Explain any three reasons. 

11. 1919 _| àñVm{dV am°bQ> EŠQ> Ho$ {déÕ Jm±YrOr Ho$ ‘gË`mJ«h Am§XmobZ’ H$m _yë`m§H$Z 
H$s{OE &   31=3 

Evaluate the ‘Satyagraha Movement’ of Gandhiji against the proposed 

Rowlatt Act, 1919. 

12. ^maV _| bm¡h A`ñH$ H$s ~oëbmar-{MÌXþJ©, {MH$_Jbya-Vw_Hw$a noQ>r H$s {H$Ýht VrZ 
{deofVmAm| H$m dU©Z H$s{OE &  31=3 

Describe any three characteristics of Bellary-Chitradurga,  

Chikmaglur-Tumkur iron-ore belt in India. 

13. ‘‘{d{Z_m©U CÚmoJ {H$gr Xoe Ho$ Am{W©H$ {dH$mg H$s ar‹T> g_Po OmVo h¢ &’’ H$WZ H$s 
CXmhaUm| g{hV nwpîQ> H$s{OE &  31=3 

‘‘Manufacturing sector is considered as the backbone of economic 

development of a country.’’ Support the statement with examples.  

14. ‘‘gKZ d gj_ n[adhZ H$m Omb ì`mnma hoVw nyd©Ano{jV h¡ &’’ H$WZ H$s naI  
H$s{OE &  31=3 

‘‘Dense and efficient network of transport is a prerequisite for trade.’’ 

Examine the statement. 

15. bmoH$V§Ì Ho$ {bE Zonmb Am¡a ~mo{b{d`m XmoZm| Ho$ ‘OZ g§Kf©’ H$s àmg§{JH$Vm H$mo Cn ẁº$ 
CXmhaUm| g{hV ñnîQ> H$s{OE &  31=3 

Explain with appropriate examples the relevance of ‘popular struggle’ of 

both Nepal and Bolivia for democracy. 
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16. ‘‘bmoH$V§Ì _| {H$gr EH$ V~Ho$ H$s Zht, A{nVw g~Ho$ {hVm| H$s ajm hmoZr Mm{hE &’’ H$WZ 

Ho$ nj _| VH©$ Xr{OE & 31=3 

‘‘A democracy must look after the interests of all, not just one section.’’ 

Support the statement with arguments.  

17. {H$Z _yë`m| Ho$ H$maU bmoH$V§Ì AÝ` emgZ ì`dñWmAm| go ~ohVa h¡ ? ñnîQ> H$s{OE &  31=3 

Which values make democracy better than any other form of government ? 

Explain.  

18. ‘ì`mnma’ _| ‘G$U’ H$s ^y{_H$m H$mo CXmhaUm| g{hV Xem©BE &  31=3 

Illustrate with examples the role of ‘loan’ in ‘business’.  

19. {dXoer ì`mnma {H$g àH$ma {d{^Þ Xoem| Ho$ ~mµOmam| H$mo Omo‹S> ahm h¡ ? CXmhaU g{hV ñnîQ> 
H$s{OE & 31=3 

How is foreign trade interlinking markets of different countries ? Explain 

with example.  

20. ~mµOma _| emofU Ho$ {d{^Þ ê$nm| Ho$ H$moB© VrZ CXmhaU Xr{OE &  31=3 

Give any three examples of different types of exploitation in the market.  

21. 1848 Ho$ ~mX O_©Zr _| ‘amîQ´> amÁ` {Z_m©U’ H$s à{H«$`m H$s naI H$s{OE &  51=5  

                AWdm 

 {d`VZm_ na 1930 Ho$ XeH$ H$s ‘_hm_§Xr’ Ho$ à^mdm| H$s naI H$s{OE &  51=5 

Examine the ‘Nation State Building’ process in Germany after 1848. 

                       OR 

Examine the impact of the ‘Great Depression’ of 1930s on Vietnam. 
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22. Xoe H$mo EH$OwQ> H$aZo Ho$ àVrH$ Ho$ ê$n _| Jm±YrOr H$s ‘Z_H$ `mÌm’ Ho$ _hÎd H$mo ñnîQ> 

H$s{OE &  51=5 

Explain the importance of the ‘Salt March’ of Gandhiji as a symbol to unite 

the nation. 

23. h_| ZdrH$aU-`mo½` D$Om© Ho$ g§gmYZm| H$m à`moJ Š`m| H$aZm Mm{hE ? VH$m] Ûmam ñnîQ>  
H$s{OE &  51=5 

Why should we use renewable energy resources ? Explain with arguments. 

24. ^maVr` AW©ì`dñWm _| dñÌ CÚmoJ Ho$ `moJXmZ H$s ì`m»`m H$s{OE &  51=5 

Explain the contribution of textile industry in the Indian economy. 

25. bmoH$V§Ì H$s {H$Ýht nm±M {deofVmAm| H$m dU©Z H$s{OE &  51=5 

Describe any five features of democracy. 

26. Eogo {H$Ýht nm±M VarH$m| H$m {díbofU H$s{OE {OZHo$ Ûmam ‘X~md g_yh’ amOZr{V na à^md 
S>mb gH$Vo h¢ &  51=5 

Analyse any five ways by which ‘pressure groups’ can exert influence on 

politics. 

27. ^maV _| ‘G$U Ho$ Am¡nMm[aH$ joÌH$’ Ho$ {H$Ýht VrZ JwUm| Am¡a {H$Ýht Xmo Xmofm| H$s g_rjm  

H$s{OE & 3+2=5 

Review any three merits and any two demerits of ‘formal sector of credit’ in 

India. 

28. ‘d¡ídrH$aU’ H$mo n[a^m{fV H$s{OE & ^maVr` AW©ì`dñWm H$mo d¡ídrH$aU go hþE {H$Ýht Mma 
bm^m| H$m dU©Z H$s{OE &  1+4=5 

Define ‘globalisation’. Describe any four benefits of globalisation to the 

Indian economy. 
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29. VrZ bjU – A, B Am¡a C ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| A§{H$V {H$E JE  

h¢ & BZ bjUm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE Am¡a CZHo$ Zm_ _mZ{MÌ 
na ItMr JB© aoImAm| na {b{IE :  31=3 

A. dh ñWmZ Ohm± go g{dZ` Adkm Am§XmobZ ewê$ hþAm Wm &  

B. dh ñWmZ Ohm± Zrb H$s IoVr H$aZo dmbo {H$gmZm| H$m Am§XmobZ àma§^ hþAm Wm &  

C. dh ñWmZ Ohm± ^maVr` amîQ´>r` H$m±J«og H$m A{YdoeZ hþAm Wm &  

Three features – A, B and C are marked on the given political outline map 

of India. Identify these features with the help of the following information 

and write their names on the lines marked in the map : 

A. The place from where the Civil Disobedience Movement was 

started. 

B. The place from where the Movement of Indigo Planters was 

started. 

C. The place where the Indian National Congress Session was held. 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 29 Ho$ ñWmZ na  
h¢ : 

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 29 : 

(29.1) Cg ñWmZ H$m Zm_ {b{IE, Ohm± Jm±YrOr Zo gyVr H$n‹S>m {_b _ µOXÿam| Ho$ nj _| 
gË`mJ«h {H$`m & 

(29.2) Cg amÁ` H$m Zm_ {b{IE, Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h {H$`m &  

(29.3) Cg amÁ` H$m Zm_ {b{IE, Ohm± O{b`m±dmbm ~mJ H$s KQ>Zm hþB© &  3 1=3 

(29.1) Name the place, where Gandhiji organised a Satyagraha in 

favour of cotton mill workers. 

(29.2) Name the State, where the Indigo Planters organised 

Satyagraha. 

(29.3) Name the State, where Jallianwalla Bagh incident took place. 
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30. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV H$mo Cn ẁº$ {M•m| go Xem©BE Am¡a 

CZHo$ Zm_ {b{IE : 31=3 

A. AO_oa : A^«H$ H$s IXmZ|   

B. H$mo{ƒ : à_wI g_wÐr nÎmZ   

C. ^ÐmdVr : bmohm Am¡a BñnmV g§`§Ì  

On the given political outline map of India locate and label the following 

with appropriate symbols : 

A. Ajmer : Mica Mines 

B. Kochi : Major Sea Port 

C. Bhadravati : Iron and Steel Plant 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 30 Ho$ ñWmZ na  
h¢ : 

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 30 : 

(30.1) Cg amÁ` H$m Zm_ {b{IE Ohm± ~oëbmar bm¡h-A`ñH$ ImZ| pñWV h¢ &  

(30.2) ^maV Ho$ X{jUV_ à_wI g_wÐr nÎmZ H$m Zm_ {b{IE &  

(30.3) ^ÐmdVr bmohm Am¡a BñnmV g§`§Ì {H$g amÁ` _| pñWV h¡ ?  3 1=3 

(30.1) Name the State where Bellary iron-ore mines are located. 

(30.2) Name the southern-most major sea port of India. 

(30.3) In which State is Bhadravati Iron and Steel Plant located ? 
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àíZ g§. 29 Ho$ {bE  For question no. 29 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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àíZ g§. 30 Ho$ {bE  For question no. 30 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 

Outline Map of India (Political) 

 

 


